
Section 1: Computation of Real Numbers 

Correct Answers: +1 Point, Incorrect Answers: - 3 points, Blanks: - 2 points 

 

Section 2: Computation of Decimal Numbers 

Correct Answers: +2 Points, Incorrect Answers: - 1 point, Blanks: - 1 point 

0.3 x 0.45 =  5.6/0.35 =  8.25*8 =  

-4.333 + 2.212 =  64*0.125 =  96*0.25 =  

88.35 x 0.5 =  0.8 - 0.08 =  25/0.4 =  

0.48/ 1.6 =  70*1.03 =  4.3*0.15 =  

1348 + 7895 =    56.24 +1.447 =   12.07-8.18 =  

 

Section 3: Multiplication of Decimal Numbers 

Correct Answers: +2 Points, Incorrect Answers: - 2 point, Blanks: - 1 point 

 

        

 

7 x 18 =  54 / 8 =   158 + 43 =  

48 + 131 =  23 + 87 =  65 / 5  

77 - 18 =  117 - 36 =  81 x 3 =  

4 x 8 =  22 x 8 =  - 137 - 42 =  

114 / 3 =  49 / 7 =   63 - 23 =  

786.3 * 1.03 =    30 * 5000 =  78 * 51 =  

a. 808.88 
b. 809.89 
c. 808.98 

a. 150000 
b. 15000 
c. 250000 

a. 4289 
b. 4978 
c. 3978 

131 * 75 =  161 * 121 =  915 * 50 =  

a. 8825 
b. 9725 
c. 9825 

a. 20681 
b. 19681 
c. 19481 

a. 45750 
b. 44550 
c. 48750 

684.9 * 1.07 =  64.5 * 700 =   78.2 * 2.04 =  

a. 722.7 
b. 732.9 
c. 732.8 

a. 45150 
b. 46150 
c. 45350 

a. 148.6 
b. 159.5 
c. 169.5 


